fo—0 o—o G o—p =o quatro decimais, ordem das operagdes

Nome: Encontro: Data: Pontuagao:
503—24x4,1+4= 6,4+4,9x2,1-3,8=
3,8+4,8—2,1x6,3= 3,4+ 15x4,4+-3 =
2,2-25%x6,8+5= 4,4+30x4,7+6=
10x4,8+2—-3= 4+ 16x6,2+4=
3,7+30%x2,9+6 = 2,9+3,5-2,6x6,3=
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fo—0 o—o G o—p =o quatro decimais, ordem das operagdes

Nome: Encontro: Data: Pontuagao:
5,3—-24x4,1+4=-193 6,4+4,9x2,1-3,8=12.89
3,8+4,8—2,1x6,3=-4.63 3,4+ 15x4,4+-3 =254
2,2-25%x6,8+5=-31.8 4,4+30x4,7+-6=279
10x4,8+2—-3=21 4+ 16x6,2+4=288
3,7+30x2,9+6=18.2 2,9+3,5-2,6x6,3=-998
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